Name ____________________
Date _______________ Block _________


Genetics Dihybrid Practice Crosses

1. In horses, black color depends on a dominant gene (B) and chestnut color is recessive (b).  The trotting gait is due to a dominant gene (T) and the pacing gait (t) is recessive.  Cross a homozygous black pacer with a chestnut heterozygous trotter.
a. Parents:  _______________  X  _______________

b. Punnett Square:

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


c. Offspring Genotypes and Probabilities:

d. Offspring Phenotypes and Probabilities:

2. In pea plants yellow seeds (Y) are dominant to green seeds (y).  Tall plants (T) are dominant to short (t) plants.  Cross a heterozygous yellow, heterozygous tall plant with a green heterozygous tall plant.
a. Parents:  _______________  X  _______________

b. Punnett Square:

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


c. Offspring Genotypes and Probabilities:

d. Offspring Phenotypes and Probabilities:

3. In guinea pigs, rough (R) coats are dominant to smooth (r) and long hair (L) is dominant to short hair (l). Cross a heterozygous rough short haired guinea pig with a smooth heterozygous long haired guinea pig.

a. Parents:  _______________  X  _______________

b. Punnett Square:

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


c. Offspring Genotypes and Probabilities:

d. Offspring Phenotypes and Probabilities:

4. In pepper plants, green (G) fruit color is dominant to red (g).  Round fruit shape (R) is dominant to square (r) fruit shape.  List the gamete types that will be produced by a heterozygous green, heterozygous round plant.
a. Gametes:  
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